

This Supplementary agreement made on Mis Jai Mata Di Stone and Chips At Mis BIHAR. W.D. works Division Baysi of the one part Mis Jai Mata Di Stone and Chips At Mis Jai Mis Jai Mata Di Stone and Chips At Mis Jai Mata Di Stone and Chips At Mis Jai Mis Jai Mis Jai Mata Di Stone and Chips At Mis Jai Mis J Radha Rani Sinha Road, Bhagalpur Bihar-812001 Herein after called the contractor of the Whereas the Employer has accepted the Difference amount of sanctioned 65 D revised rate @ 18% sanctioned by the Superintending Theines Rural works department, via Letter Number 434 (319) Dated 24.03,2024 for Rupees पूर्णियाँ कोषगार ब्रम्स्स्क निर्गत निथः-

03 JAN 2024Works circle Purnera

Works eircle Purnera via Leuer Runnor Ansari 37,49 123.00 (Rupees Thirty Seven lakhs Forty Nine Thousand One LAN per 200 kg byne

कोषागार पदाधिकातीdred Twenty Three) as illustrated below:-

SI NO	Name of the road	Approved Agreement(with	Done
1	Tender Package Number :MMGSY WB-19 Baysi-01[PWD Hat Gachhi Kailam(Kaium) Ke Ghar To Dubaili Madhya Vidyalay In Dagarua Block	5,07,30,091.00	5,44,79,214.00

Agreemented amount was 5,18,26,932.00 and Work Done amount is 5,07,30,091.00

Agreemented was	5,07,30,091.00 5,44,79,214.00 37,49,123.00
Difference Amount As per Work Done Total Value of Agreement As per Work Done Total Value of Agreement	5,44,79,214.00
As per Work Done Total Value of Age After Approval of 18% GST for the Above Road [Orignal +Suppl.] Agreement [Orignal + Suppl.] Agreement	and Seventy Nine Thousand Two

i.e Rupees Five Crore Forty Four Thousand Seventy Nine

In this Agreement, Words and expression shall have the Hundred Fourteen Only same meanings as are respectively assigned to them in the Condition of contract hereinafter referred to, and they shall be deemed to form and be read and construed as part of this Agreement.

JAI MATA DI STONE AND CHIPS

EXECUTIVE ENGINEER

NOW THIS AGREEMENT WITHNESSETH as follows :-

- 1. The following documents shall be deemed to form and be ready and construed as part of this Agreement, Viz.
 - Letter of Superintending Engineer RWD works Circle, Purnea
 - BOQ Approved
 - Original Agreement

It is expressly acknowledged and agreed by both parties that this supplementary agreement is intended to address specific aspects related to the GST claim, rest portion of execution, and maintenance of road, and it shall not in any way alter, modify, or affect the terms and conditions stipulated in the original agreement dated [Original Agreement Date]_____.

The original agreement remains in full force and effect, and any provisions not explicitly addressed in this supplementary agreement shall be governed by the terms of the original agreement.

In witness where of, the parties hereto execute this non-impact statement on the date first above written.

2.	Deduction: I.T, GST, Royalty & all other deduction will be deduced form each bill as pe
	Govt. rule. In witness whereof the parties thereto have caused this Agreement to be executed the day and
	year first before written
	The Common Seal of
	Was hereunto affixed in the presence of
	Signed Sealed and Delivered by the said
	In the presence of:

JAI MATA DI STONE AND CHIPS Pogg Styph PROPRIETOR

Binding Signature of Contractor

24/3/24

EXECUTIVE ENGINEER
BINRING WORKS DIVISION BAISI

TO ME TO THE TOTAL OF THE TOTAL

बिहार सरकार

अधीक्षण अभियंता का कार्यालय, ग्रामीण कार्य विभाग, कार्य अंचल, पूर्णियाँ।

पत्रांक 434 अनु

पूर्णियाँ / दिनांक .2.4/ .2.../ 2024

प्रेषक,

अधीक्षण अभियंता, ग्रामीण कार्य विभाग, कार्य अंचल, पूर्णियाँ।

सेवा में,

कार्यपालक अभियंता, ग्रामीण कार्य विभाग, कार्य प्रमंडल, बायसी।

विषय :- MMGSY (WB) योजनान्तर्गत स्वीकृत योजनाओं में VAT के स्थन पर GST दर 12% एवं 18% करने के संबंध में।

प्रसंग :- आपका पत्रांक 3049 दिनांक 19.12.2023

महाशय.

उपर्युक्त विषयक प्रासंगिक पत्र के आलोक में सूचित करना है कि निम्नांकित पथ के स्वीकृत प्राक्कलन में VAT का प्रावधान था, जबिक सरकार के द्वारा पहले VAT को हटाकर 12% GST तथा उसके बाद 12% GST से बढ़ाकर 18% GST किए जाने के फलस्वरूप अपके द्वारा समर्पित GST प्रस्ताव की स्वीकृति दी जाती है।

	A Section 1997		पर्व में स्वीकृत परिमाण	अंतर राषि
क्र0सं0	पथ का नाम	पुनरीक्षित परिमाण	पूर्व म स्वाकृत पारमाण विपत्र	(लाख में)
		विपत्र की राषि (लाख में)	्की राषि (लाख्रुमें)	
	(किये असे असे असे	की राषि (लाख में)	(H12)
111111111111111111111111111111111111111	RWD Hat Gaghhi Kailam (Kaium) Ke Ghar	53825463.00	- 50121523 .00	3704133.00 3749123:00
	Se Dubaili Madhya Vidyalay	54479214'00	50730011	C T T T T

विश्वासमाजन्
अधीक्षण अभियंता,
ग्रामीण कार्य विभाग,
कार्य अंचल, पूर्णियाँ।

JAI MATA DI STONE AND CHIPS
PROPRIETUR

2/13/24

EXECUTIVE ENGINEER

RWD WORKS DIVISION BAISI

20 % WINGINIO DIVISION BAISI

er Inviting Authority: Engg-in Chief RWD Patna

Name of Work: Construction of Road & CD Works Under:

PWD HAT GACHIII KAILAM (KAIUM) KE GHAR SE DUBAILI MADIIYA VIDYALAY

	W.			MADITY VIDIALAY
DAGARUA	DIVISION:-	48-	Baisi	
(1St RA to 4Th	Ra) BOO	@ 12%		ANACHTRAN
Description of work	No. or Qty.	Unit	Rate	AMOUNT Rs. P
			Figure	A second of the
The second secon				
Providing & Fixing of Working benchmark/Refrence Pillars 01 nos. per km & 04 Nos. of reference pillars required for 1 Km. as per drawings given and direction of E/I Benchmark	7.000	Per Km	4477.040	31339.280
Piller 01. Nos. Per Km. Providing & Fixing of Working benchmark/Refrence Pillars 01 nos. per km & 04 Nos. of reference pillars required for 1 Km. as per				
drawings given and direction of E/I Refference	27.000	Per Km	2048.150	55300.050
Piller 04. Nos. Per Km. Clearing and Grubbing Road Land (By manual means) including uprooting wild vegetation, grass bushes, shrubs, saplings and trees of girth upto				
300mm, removals of stumps of such trees cut earlier & disposal of unserviceable materials &				
auctioned upto a lead of 1000 m including removal				
150mm in thickness as per technical specification - clause 201.1 and direction of E/I	4.200	Hect.	49247.000	206837.400
Box Cutting:- Excavation for roadway in soil using	7 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2			
manual means for carrying of cut eath to lembankment site with a lift upto 50 m as per			01 000	6662.460
Technical specification Clause 302.3	82.050	Cum	81.200	PART OF STREET OF STREET
Construction of embankment with approved material deposited from road way cutting and excavation from drain and foundation of other structures and excavated with an average lead of 100 m graded and compacted to meet requirement of tables 300.1 and 300.2 as per technical				1061.150
specification clause 301.5	49.500	Cum	37.660	1864.170
Construction of Embankment with material obtained from borrow pits with a lift upto 1.5 m, transporting to the site spreading, grading to required slope and compacting to meet requirement of Tables 300.1 and 300.2 with a lead upto 100 m	;			
as per Technical Specification Clause 301.5. (Including Royality & Labour Cess).	1012.570	Cum	185.650	187983.620
IAI MATA DI STONE AND CHIPS	1012.570		EVECTOR	

JAI MATA DI STONE AND CHIPS

PROPRIETOR



EXECUTIVE ENGINEER NORKS DIVISION BAISI

scription of work	No. or Qty.	Unit	Estimated Rate	AMOUNT Rs. p
			Figure	
instruction of Embankment with material tained from borrow pits with a lift upto 1.5 m, insporting to the site spreading, grading to quired slope and compacting to meet requirement Tables 300.1 and 300.2 with a lead upto 1000 m per Technical Specification Clause 301.5. Including Royality & Labour Cess).	4050.260	Cum	141.200	571896.710
onistruction of subgrade and earther shoulders with approved material obtained from borrow pits with all lifts and leads, transporting to site, preading, grading to required slope and compacted material met requirement of Table 300.2 with lead upto 000 m & 100 m as per Technical Specification clause 303.1. (Including Royality & Labour Cess).	14062.910	Cum	187.720	2639889.470
Construction of granular sub-base by providing well graded material, spreading in uniform layers with motor grader on prepared surface, mixing by nix in place method with rotavator at OMC, and compacting with smooth wheel roller to achieve the desired density, complete as per Technical Specification Clause 401.	4202.530	Cum	2908.390	12222596.230
Providing, laying, spreading and compacting stone aggregates of specific sizes to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with smooth wheel roller 80-100 kN in stages to proper grade and camber, applying and brooming, stone screening to fill-up the interstices of coarse aggregate, watering and compacting to the required density Grading 3 as per Technical Specification Clause 405.	1461.400	Cum	3818.230	5579961.320
Construction of granular sub-base by providing well graded material, spreading in uniform layers with motor grader on prepared surface, mixing by mix in place method with rotavator at OMC, and compacting with smooth wheel roller to achieve the desired density, complete as per Technical Specification Clause 401.	361.060	Cum	2908.390	1050103.290

JAI MATA DI STONE AND CHIPS Boja Smpl PROPRIETOR

20/2/20

EXECUTIVE ENGINEER

RWO VORKS DIVISION BAIS

cription of work	No. or Qty.	Unit	Estimated Rate	AMOUNT Rs. P
			Figure	
viding, laying, spreading and compacting stone regates of specific sizes to water bound cadam specification including spreading in form thickness, hand packing, rolling with ooth wheel roller 80-100 kN in stages to proper ade and camber, applying and brooming, stone reening to fill-up the interstices of coarse gregate, watering and compacting to the required nsity Grading 3 as per Technical Specification				
lause 405.	430.320	Cum	3818.230	1643060.730
onstruction of un-reinforced, dowel jointed at expansion and construction joint only, plain cement concrete pavement, thickness as per design, over a repared sub base, with 43 grade cement or any ther type as per Clause 1501.2.2 M30 (Grade), coarse and fine aggregates conforming to IS:383, naximum size of coarse aggregate not exceeding 25 mm, mixed in a concrete mixer of not less than 0.2 mm capacity and appropriate weigh batcher using approved mix design, laid in approved fixed side formwork (steel channel, laying and fixing of 125 micron thick polythene film, wedges, steel plates including levelling the formwork as per drawing), appreading the concrete with shovels, rakes, compacted using needle, screed and plate vibrators and finished in continuous operation including provision of contraction and expansion, construction joints, applying debonding strips, primer, sealant, dowel bars, near approaches to bridge/culvert and construction joints, admixtures as approved, curing of concrete slabs for 14-days, using curing compound (where specified) and				
water finishing to lines and grade as per drawing	600.000	Cum	6946.530	4167918.000

Am

JAI MATA DI STONE AND CHIPS Poga Styfu PROPRIETOR







ion Ul "V"	No. or Qty.	보이보면서 그 아이는 얼마 보다 하는 아이를 걸다.	Estimated Rate	AMOUNT Rs. p
			Figure	
riding and Fixing 'Logo' of MMGSY Project riding and fixing of typical MMGSY riding and fixing of typical MMGSY				
rmatory sign board warming in the MS Plates of 1.6				
flat iron 25mm x 5mm Size or or or lower plate will be welded with MS angle iron			Sec. 1.	
the of the lower most place and and all the lower most place will be welded to 2 nos. 75mm x 75				
ment concrete M-13 grade blocks of 450mm x 50mm x 600mm, 600mm below ground level. The p most diamond plate will be welded to middle late by 47mm x 47mm of 12 SWG steel plate tube.				
ettering and printing arrows, border etc. will be ainted with ready mixed synthetic enamel paint of uperior quality in required shade and colour. All ections of framed posts and steel tube will be				
ections of framed posts and secondoc with occarions of the primer and two coats of epoxy paint as over drawing Clause 1701 and Annexure 1700.1	2.000	Each	9256.650	18513.300
H.P. CULVERT	2.000	178 A	Pro-Paris	coops.
Earthwork excavation: Earth work excavation for foundation of structure upto 3.0 m depth as per	1.06	Cun	282.880	25289.470
drawing and technical specification clause 1104. Providing M15 (PCC 1:2.5:5) as levelling course if foundation:- Providing M15 (PCC 1:2.5:5) as levelling course if foundation concrete for	89.400	Cui	202.000	readings of the
plain/reinforced concrete in open foundations complete as per drawings and technical specifications Clause 802, 803, 1202 & 1203	13.790	Cui	m 5808.150	80094.390
Plain/reinforced cement concrete (M-20) in substructure complete as per drawings and technic specification Clauses 802, 804, 805, 806, 807, 120	al D2			
ans 1204	101.22	0 Cu	m 6447.970	652663.520
Providing and laying reinforced cement concrete pipe NP3 for culverts on first class bedding of PC - 10 material in Double Row including fixing col with cement mortar 1:2 but excluding excavation.	iar			
protection works, backfilling, concrete and mason works in head walls and parapets as per Clause 1106.	22,50	0 R	m 3672.630	82634,180

JAI MATA DI STONE AND CHIPS PROPRIETOR

2/2/2/2

EXECUTIVE ENGINEER
RWO WORKS DIVISION BAISI

Piption 62	No. or Qty.	Unit	Estimated Rate Figure	AMOUNT Rs. p
nting Parapet Wall (Blact & White Strip) nting two costs including primer coat after filling surface with synthetic enamel paint in all shades new, plastered / concrete surface as per drawing Technicals Specification Clause 1701 X CULVERT	61.920	Sqm	96.160	5954.230
rthwork excavation: Earth work excavation for and attention of structure upto 3.0 m depth as per	585.280	Cum	282.880	165564.010
oviding concrete for plain/reinforced concrete in open foundations complete as per drawings and chnical specifications Clause 802, 803, 1202 & 203 roviding Concrete for Plain/reinforced cement open foundation complete as per concrete in open foundation complete as per concrete and technical specification Clauses 802,	44.870	Cum	5808.150	260611.690
04, 805, 806, 807, 1202 ans 1204 (Grade M-20)	196.170	Cum	6447.970	1264898.270
Supplying, fitting and placing HYSD bar reinforcement in foundation complete as per drawing and technical specification clause 1000 and 1202.	0.636	MT	69063.340	43924.280
Providing Concrete for Plain/reinforced cement concrete in substructure complete as per drawings and technical specification Clauses 802, 804, 805, 806, 807, 1202 ans 1204 (Grade M-20)	134.010	Cum	6664.780	893147.170
Providing weepholes in brick masonry/stone masonry, plain/reinforced concrete abutment, wing wall, return wall with 100 mm dia AC pipe extending through the full width of the structures with slope of 1(V):20(H) towards drawing face complete as per drawing and technical specificatio Clauses 614, 709, 1204.3.7		Nos	117.960	23356.080
Providing Concrete for Plain/reinforced cement concrete in substructure complete as per drawings and technical specification Clauses 802, 804, 805,		Cum	7351.100	547362.910
806, 807, 1202 ans 1204 (Grade RCC M-25) Supplying, fitting, and placing HYSD bar reinforcement in superstructure complete as per drawing and technical specifications Clauses 1002, 1010 and 1202		MT	69211.420	483787,830
Backfilling behind abutment, wing wall and return wall complete as per drawings & technical specification Clause 1204.3.8 (With Sandy Mater	A T) Cum	732.870	164463.360
JAI MATA DI STONE AND CHIPS JEOJA BERTON	1 de 20/2	Til	EXECUTIVE TO THE PROPERTY OF T	\(\)

tion of work	No. or	Unit		, î	
The state of the s	Qty.	Unit	Estimated Rate	TNUOMA	
			Figure	Rs. P	
ng and laying filter media with granular					
d aggregates as per specification to					
ess of not less than 600 mm with smaller size					
is the son and bigger size towards the wall		į.			
oviding over the entire surface behind			E 0		
ent, wing wall, return wall to the full beight					
acted to firm condition complete as ner					
ng and technical specification Clause 1204.3.8					
	-				
iding and laying reinforced cement concrete in	123.670	Cum	3379.660	417962.550	
rstructure as per drawing and technical					
ifications Clauses 800, 1205.4 and 1205.5			i.		
C M-30 Grade)	20.770	-	*	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
apet Construction Plain/reinforced cement	30.770	Cum	7977.130	245456.290	
crete in substructure complete as per drawings			1 (e to		
technical specification Clauses 802, 804, 805,				-	
5, 807, 1202 ans 1204 (M-20)	6.050		224	1	
pplying, fitting, and placing HYSD bar	0.030	Cum	6664.780	40321.920	
nforcement in superstructure complete as per	*				
awing and technical specifications Clauses 1002.		g (2) - a, B		B and the Best of	
10 and 1202	2.623	MT	70353.410	10450 6 000	
rapet Construction Plain/reinforced cement	September 1	IVII	70333.410	184536.990	
oncrete in substructure complete as per drawings					
nd technical specification Clauses 802, 804, 805,				·	
06, 807, 1202 ans 1204 (M-20)	21.710	Cum	6664.780	144692.370	
ainting on Parapet wall painting two coasts			et any	111032.570	
ncluding primer coat after filling the surface with			(C)		
synthetic enamel paint in all shades on new,			Č.		
plastered/ concrete surface as per drawing and				1.0	
Technical specification Clause 1701.	148.61	0 Sqn	n 96.160	14290.340	
Drainage spouts complete as per drawing and technical specifications Clause 1209	16.000	, _{NT}	400.005	20.54	
Providing and laying cement concrete wearing	16.000) No	s 428.220	6851.520	
course M 30 grade including reinforcement	10 H 10 H 10 H 20 H				
complete as per drawing and technical	a - a k				
specifications Clauses 800 and 1206.3	5.630	Cu	m 15009.260	84502.130	
Dismantling of existing structures like culverts,	to a series of the series	Assurant constants	10007.200	0.1302.130	
bridges, retaining walls and other structure	000 a x 2		No. 1 Sept. 11 Sept. 11 Sept. 11		
comprising of masonry, cement concrete, wood					
work, steel work, including T&P and scaffolding	g				
wherever necessary, sorting the dismantled					
material, disposal of unserviceable material and		i k	1	(
stacking the serviceable material with all lifts an	d			Š.	
lead of 1000 m as per Technical Specification	2	. ~		NE NE	
Clause 202. Cement Concrete	0.46	0 C	um 469,970	216.190	
JAI MATA DI STONE AND CHIPS	Dur			Sep.	

Logg Single PROPRIETOR





4Duvi	No. or Qty.	Unit	Estimated Rate	AMOUNT Rs. p
			Figure	
pantling of existing structures like culverts, ges, retaining walls and other structure prising of masonry, cement concrete, wood k, steel work, including T&P and scaffolding crever necessary, sorting the dismantled erial, disposal of unserviceable material and sking the serviceable material with all lifts and d of 1000 m as per Technical Specification muse 202. Reinforceemnt Cement Concrete	5.040	Cum	1056.050	5322.490
smantling of existing structures like culverts, smantling of existing structures like culverts, dges, retaining walls and other structure imprising of masonry, cement concrete, wood ork, steel work, including T&P and scaffolding therever necessary, sorting the dismantled aterial, disposal of unserviceable material and acking the serviceable material with all lifts and and of 1000 m as per Technical Specification	2.010	Cum	1000103.	
lause 202. Cement Mortar	49.500	Cum	226.140	11193.930
roviding and laying of a reinforced cement concrete pipe duct, 300 mm dia, across the road new construction), extending from drain to drain in the cuts and toe of slope to toe of slope in fills, constructing head walls at both ends, providing a minimum fill ofgranular material over top and sides of RCC pipe as per IRC:981997, bedded on a 0.3 m thick layer of granular material free of rock pieces, outer to outer distance of pipe at least half dia of pipe subject to minimum 450 mm in case of double and triple row ducts, joints to be made leak proof, invert level of duct to be above higher than ground level to prevent entry of water and dirt, all as per IRC: 98 - 1997 and approved drawings.	3	Rm	887.530	124254.200
Total Cost of Construction =	A - CONSTRUCTOR STORES	Rs		34357068.340
Add GST @ 12%	1 COV over the manual	Rs	200 mm	4122848.000
Add Labour Cess @ 1%	A THE RESERVE OF THE PARTY OF T	Rs		-343571.000-
Total Construction Cost (A)	and the second second	Rs	MASS	-38823487.340

JAI MATA DI STONE AND CHIPS POGJA STYPL PROPRIETOR

70/2/21

EXECUTIVE ENGINEER
RWD WORKS DIVISION BAISI

384-799/6-34

otion of work	110, 0,	Unit	Estimated Rate	AMOUNT Rs. p
)(I(vii s	Qty.		Figure	
	DW BOO	@ 18º	/0	
(5Th to 6Th Ra	RIII) ROO	(a), 10 /	V	
ing & Fixing of Working nark/Refrence Pillars 01 nos. per km & 04				
nark/Refrence Pillars of Hos. per kin es per freference pillars required for 1 Km. as per				
f reference pillars required for Train as progenition of E/I Benchmark	7.00	Per Km	4477.04	31339.00
. Mar Der Kill.	7.00	10. 12.		
on Nos. 1 cr 1 Million of Working Jing & Fixing of Working Jing & Fixing of Working Jing & Fixing of Working	9 1	1		
ling & Fixing of Working mark/Refrence Pillars 01 nos. per km & 04				
of reference pillars required for 1 Km. as per				55200.00
ings given and direction of England	27.00	Per Km	2048.15	55300.00
	A Last	22.7	July - 1	
		T		
ing and Grubbing Road Land (b) including uprooting wild vegetation, grass including uprooting wild vegetation girth upto			0	
	W 62		9	
nes, shrubs, saplings and trees of g			2	
or stumps of stu	() to			
ting of serviceable materials to be determined upto a lead of 1000 m including removal			n <u>n</u>	э э
			12 20 12	,
disposal of top organic son not officer mm in thickness as per technical specification -		**	49247	236386.00
and direction of E/I	4.80	Hect.	49247	3. 35.45 200
ise 201.1 and direction of				
1 mans for carrying of cut eath to				
bookment site with a lift upto 30 III as per	00.05	Cum	81.2	6662.00
brical specification Clause 302.5	82.05	Cum	লোকট	The same of the sa
tweetien of embankment with approved			ž.	
torial deposited from road way cutting and				
existion from drain and toundation of outer	1			
uctures and excavated with an average lead of				
0 m graded and compacted to meet requirement		4		1064.00
tables 300.1 and 300.2 as per technical ecification clause 301.5	49.50	Cum	37.66	1864.00
ecification clause 301.3	. जनसङ्ख्या था स			
otained from borrow pits with a lift upto 1.5 m,				
ansporting to the site spreading, grading to				
equired slope and compacting to meet requiremen	t		V	
Tables 300.1 and 300.2 with a lead upto 100 m		1		
s per Technical Specification Clause 301.5.	1382.46	Cum	185,65	256654.00
ncluding Royality & Labour Cess). onstruction of Embankment with material		sery with VA - 1	le uj	1 10 10 10 10 10 10 10 10 10 10 10 10 10
onstruction of Embankment with material btained from borrow pits with a lift upto 1.5 m,				₹ }
ransporting to the site spreading, grading to				i.
equired slope and compacting to meet requiremen	it			C
f Tables 300.1 and 300.2 with a lead upto 1000 n	1			
s per Technical Specification Clause 301.5.		0	1410	607767.00
Including Royality & Labour Cess).	4941.69	Cum	141.2	697767.00 ENGINEER
JAI MATA DI STONE AND CHIPS	Sign 1	- da	EXECU'	TIVE ENGINEER
Boga Snyli	· -t	T DOD	RWDWQ	STATES DIVISION BAISI
PROPRIETOR		20/3/X	1 1	- ,

	scription of work	No. or Qty.	Unit	Estimated Rate	AMOUNT Rs.
				Figure	
	Construction of subgrade and earthen shoulders with approved material obtained from borrow pits with all lifts and leads, transporting to site, spreading, grading to required slope and compacted to meet requirement of Table 300.2 with lead upto 1000 m & 100 m as per Technical Specification Clause 303.1. (Including Royality & Labour Cess).	15499.48	Cum	187.72	2909562.00
the Market Company of the Company of	Construction of granular sub-base by providing well graded material, spreading in uniform layers with motor grader on prepared surface, mixing by mix in place method with rotavator at OMC, and compacting with smooth wheel roller to achieve the desired density, complete as per Technical Specification Clause 401.	4096.20	Cum	2908.39	11913347.00
	Providing, laying, spreading and compacting stone aggregates of specific sizes to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with smooth wheel roller 80-100 kN in stages to proper grade and camber, applying and brooming, stone screening to fill-up the interstices of coarse aggregate, watering and compacting to the required density Grading 3 as per Technical Specification Clause 405.	1467.89	Cum	3818.23	5604742.00
	Providing and applying primer coat with Bitumen emulsion (SS-1) on prepared surface of granular base including cleaning of road surface and spraying primer at the rate of 0.90- 1.2 kg/sqm using mechanical means as per Technical Specification Clause 502.	19170.00	Sqm	48.48	929362.00
2	Providing and applying tack coat with bitumen emulsion using emulsion pressure distributor at the rate of 0.25 to 0.30 kg per sqm on the prepared granular surface tretaed with Primer and clened with hydriloc broom as per technical specification aclouse 503.	19170.00	Sqm	16.43	314963.00

Du

JAI MATA DI STONE AND CHIPS
PROPRIETOR

20/2/24



Linflow	No. or Qty.	Unit	Estimated Rate	AMOUNT Rs. P
roviding, laying and rolling of close-graded remix surfacing material of 20 mm thickness omposed of 11.2 mm to 0.9 mm (Type-A) or 13.2 mm to 0.9 mm (Type-B) aggregates using penetration grade bitumen to required line, grade and level to serve as wearing course on a previously prepared base, including mixing in a suitable plant, laying and rolling with a three wheel 8-10 kN static roller and finishing to required level and grades as per Technical Specification Clause 509 Construction of granular sub-base by providing well graded material, spreading in uniform layers with motor grader on prepared surface, mixing by mix in place method with rotavator at OMC, and compacting with smooth wheel roller to achieve		Sqm	Figure 225.66	4325902.00
the desired density, complete as per Technical Specification Clause 401.	361.06	Cum	2908.39	1050103.00
Providing, laying, spreading and compacting stone aggregates of specific sizes to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with smooth wheel roller 80-100 kN in stages to proper grade and camber, applying and brooming, stone screening to fill-up the interstices of coarse aggregate, watering and compacting to the required density Grading 3 as per Technical Specification iclause 405.	er	2 Cum	3818.23	1675898.00

JAI MATA DI STONE AND CHIPS Joga Single PROPRIETOR





in of work	No. or Qty.	Unit	Estimated Rate	AMOUNT Rs.
			Figure	
concrete pavement, thickness as per design, over a concrete sub base, with 43 grade cement or any prepared sub base, with 43 grade sub base, with 43 grade sub base, with 43 grade sub base, with 43 grad				
primer, sealant, dowel bars, near approaches to bridge/culvert and construction joints, admixtures as approved, curing of concrete slabs for 14-days, using curing compound (where specified) and water finishing to lines and grade as per drawing	631.05	Cum	6946.53	4383608.00
and Technical Drain :- Sand filling in Foundaiton:- Sand filling in foundation Trenches as per drawing and technical	148.50	Sqm	480.65	71377.00
specification Clause 1108. Brick Flat Soiling in Foundation & Flooring: Brick Flat soiling in foundation Trenches as per Specification Clause 1108.	1485.00	Sqm	300.94	446896.00
drawing and technical specification Clause 1108. Providing M15:- Providing M15 in concrete for plain/reinforced concrete in open foundations complete as per drawings and technical specifications Clause 802, 803, 1202 & 1203	180.68	Cum	5808.15	1049417.00
Reinforced cement concrete M15 grade knowledge local stone of standard design asper IRC:8 fixing in position including painting and printing, etc as per drawing and technical specification clause 1703.	2.00	Each	3863.26	7727.00
21 Reinforced cement concrete M15 grade kilometre local stone of standard design asper IRC:8 fixing in position including painting and printing, etc as per drawing and technical specification clause 1703. Ordinary Kilometer Stone (Precast)	5.00	Each	2326,57	11633.00

JAI MATA DI STONE AND CHIPS Loga Sixyal PROPRIETOR





ation of work	No. or Qty.	Unit	Estimated Rate	AMOUNT Rs.
			Figure	
forced cement concrete M15 grade kilometre forced cement concrete M15 grade kilometre at the force of standard design asper IRC:8 fixing in sing including painting and printing, etc as per and technical specification clause 1703. In Stone (Precast)	27.00	Each	648.53	17510.00
widing and Fixing 'Logo' of MMGSY Project widing and fixing of typical MMGSY promatory sign board with Logo as per MORD principal sign board with Logo as per MORD principal sign and drawing. Three MS Plates of 1.6 in thick, top and middle plate duly welded with S flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron rame of 25mm x 25mm x 5mm. The angle iron rame of the lower most plate and flat iron frame of the lower most plate and flat iron frame of middle plate will be welded to 2 nos. 75mm x 75 mm of 12 SWG sheet tubes posts duly embedded cement concrete M-15 grade blocks of 450mm x	of in			
top most diamond plate will be welled to interest plate by 47mm x 47mm of 12 SWG steel plate tue. All M.S. will be stove enameled on both sides. Lettering and printing arrows, border etc. will be painted with ready mixed synthetic enamel paint superior quality in required shade and colour. A sections of framed posts and steel tube will be painted with primer and two coats of epoxy pain per drawing Clause 1701 and Annexure 1700.1 Painting New Letter and figure of any shade with synthetic enamal paint black or any other appropriate to give an even shade as per drawing and colour to give an even sha	of all as 7.0 with oved d	Per Cm Heigh Per	t	64797.00
plate by 47mm x 47mm of 12 SWG steel plate tue. All M.S. will be stove enameled on both sides. Lettering and printing arrows, border etc. will be painted with ready mixed synthetic enamel paint superior quality in required shade and colour. A sections of framed posts and steel tube will be painted with primer and two coats of epoxy painted with primer and two coats of epoxy painted with gramer and two coats of epoxy painted with primer and figure of any shade with primer and figure of any shade with primer and figure of any shade with primer and figure of any other approximately and primer and two coats of epoxy painted with primer and figure of any shade with primer and figure of any other approximately and part of the leak or any other approximately and the leak of the leak or any other approximately and the leak of the leak o	of of all ont as 7.0 with oved od 0.0 crete odard	Per Cm Heigh Per	t	

JAI MATA DI STONE AND CHIPS

Joses Single PROPRIETOR





Mion of work	No. or Qty.	Unit	Estimated Rate Figure	AMOUNT Rs.
and fixing of Semi reflective cautionary, and informatory sign board: Providing of Semi reflective cautionary, mandatory of Semi reflective cautionary, mandatory informatory sign board as per IRC:67 made of informatory sign board as per IRC:67 made of informatory sign board as per IRC:67 made of the semi thick MS Sheet duly stove white colour in the semi thick	18.00	Nos	3767.12	67808.00
Providing and fixing of Semi reflective cautionary, mandatory and informatory sign board: Providing and fixing of Semi reflective cautionary, mandatory and informatory sign board as per IRC:67 made of 1.5 mm thick MS Sheet duly stove white colour in front and gray colour on back with red reflective border of 65 mm width and required letters and figures with reflective tape engineering grade as per Clause 1701.3.9 of MORD for Rural Roads of required shade and colour supported and welded of 47mm x 47 mm x 12 SWG sheet tube firmly fixed to the ground by mean of properly designed foundations with M-15 grade cement concrete 450x450x600 mm, 600 mm below ground level as per approved drawing Clause 1701.2.2	r n	Nos	6974.44	139489.00

JAI MATA DI STONE AND CHIPS Doga Smal PROPRIETUR

20/2/24



ALL APPER	No. or Qty.	Unit	Estimated Rate Figure	AMOUNT Rs. P
Providing and fixing of Semi reflective cautionary, mandatory and informatory sign board: Providing and fixing of Semi reflective cautionary, mandatory and informatory sign board as per IRC:67 made of 1.5 mm thick MS Sheet duly stove white colour in front and gray colour on back with red reflective border of 65 mm width and required letters and figures with reflective tape engineering grade as per Clause 1701.3.9 of MORD for Rural Roads of required shade and colour supported and welded on 47mm x 47 mm x 12 SWG sheet tube firmly fixed to the ground by mean of properly designed foundations with M-15 grade cement concrete 450x450x600 mm, 600 mm below ground level as per approved drawing Clause 1701.2.2		Nos	4895.63	78330.00
Providing and fixing of Semi reflective cautionary, mandatory and informatory sign board: Providing and fixing of Semi reflective cautionary, mandatory and informatory sign board as per IRC:67 made of 1.5 mm thick MS Sheet duly stove white colour in front and gray colour on back with red reflective border of 65 mm width and required letters and figures with reflective tape engineering grade as p Clause 1701.3.9 of MORD for Rural Roads of required shade and colour supported and welded 47mm x 47 mm x 12 SWG sheet tube firmly fixed to the ground by mean of properly designed foundations with M-15 grade cement concrete 450x450x600 mm, 600 mm below ground level at	er on d			
per approved drawing Clause 1701.2.2 900 mm Octagaon 30 Providing and laying of hot applied thermoplastic Compound with Reflectorising Glass Beads on Bituminous Surface: - Providing and laying of happlied thermoplastic compound 2.5 mm thick including reflectorising glass beads @ 250 gms sqm area, thickness of 2.5 mm is exclusive of surface applied glass beads as per IRC:35. The finished surface to be level, uniform and free frestreaks and holes.	24.00 c not per			732996.00

JAI MATA DI STONE AND CHIPS Booga Singli PROPRIETOR

20/3/24

EXECUTIVE ENGINEER

RWOWNERKS DIVISION BAISI

ription of work	No. or	Unit	Estimated Rate	AMOUNT Rs. p
·P	Qty.		Figure	
1. 14hammonlastic				
iding and laying of hot applied thermoplastic appound with Reflectorising Glass Beads on acrete Surface: - Providing and laying of hot blied thermoplastic compound 2.5 mm thick cluding reflectorising glass beads @ 250 gms per m area, thickness of 2.5 mm is exclusive of arface applied glass beads as per IRC:35. The mished surface to be level, uniform and free from	330.00	Sqm	826.57	272768.00
reaks and holes. lanting of tree by the road side (Avenue Tree) in .6 m dia holes, 1 m deep dug in the Ground, Mixing the soil with decayed farm yard / slug				
watering fixing the tree guard & Maintenance the	520.00	Nos	761.6	396032.00
plant for One Year. H.P. CULVERT				and the second s
Earthwork excavation: Earth work excavation for foundation of structure upto 3.0 m depth as per drawing and technical specification clause 1104.	89.40	Cum	282.88	25289.00
Providing M15 (PCC 1:2.5:5) as levelling course foundation:- Providing M15 (PCC 1:2.5:5) as levelling course if foundation concrete for plain/reinforced concrete in open foundations complete as per drawings and technical			5808.15	80094.00
chacifications Clause 802, 803, 1202 & 1203	13.79	Cum	5808.13	00091110
Plain/reinforced cement concrete (M-20) in	ical 202			650664.00
substructure complete as per data specification Clauses 802, 804, 805, 806, 807, 12 ans 1204	200	Cum	6447.97	652664.00
Providing and laying reinforced cement concrete pipe NP3 for culverts on first class bedding of F - 10 material in Double Row including fixing cowith cement mortar 1:2 but excluding excavation with cement mortar hackfilling, concrete and mass	ollar n,			
works in head walls and parapets as per Clause	22.50	Rm	3672.63	82634.00
Painting Parapet Wall (Blact & White Strip) painting two costs including primer coat after fi the surface with synthetic enamel paint in all sh on new, plastered / concrete surface as per draw and Technicals Specification Clause 1701 BOX CULVERT	illing nades wing 61.92	- Procedure Maryon	96.16	5954.00
38 Earthwork excavation: Earth work excavation foundation of structure upto 3.0 m depth as pedrawing and technical specification clause 110	r)4. 585.2		n 282.88	165564.00
JAI MATA DI STONE AND CHIPS	Bu	0	EVEC	UTIVE ENGINEER

JAI MATA DI STONE AND CHIPS

_bog Single
PROPRIETOR

2010 N

EXECUTIVE ENGINEER

RING AGRES DIVISION BAISI

Elibrion of mork	No. or Qty.	Unit	Estimated Rate	AMOUNT Rs.
			Figure	
oviding concrete for plain/reinforced concrete in en foundations complete as per drawings and chnical specifications Clause 802, 803, 1202 & 203	44.87	Cum	5808.15	260612.00
roviding Concrete for Plain/reinforced cement concrete in open foundation complete as per rawings and technical specification Clauses 802, 04, 805, 806, 807, 1202 ans 1204 (Grade M-20)	196.17	Cum	6447.97	1264898.00
Supplying, fitting and placing HYSD bar einforcement in foundation complete as per drawing and technical specification clause 1000 and 1202.	0.64	MT	69063.34	43924.00
Providing Concrete for Plain/reinforced cement concrete in substructure complete as per drawings and technical specification Clauses 802, 804, 805, 806, 807, 1202 ans 1204 (Grade M-20)	134.01	Cum	6664.78	893147.00
Providing weepholes in brick masonry/stone masonry, plain/reinforced concrete abutment, wing wall, return wall with 100 mm dia AC pipe extending through the full width of the structures with slope of 1(V):20(H) towards drawing face complete as per drawing and technical specificatio Clauses 614, 709, 1204.3.7	A	Nos	117.96	23356.00
Providing Concrete for Plain/reinforced cement concrete in substructure complete as per drawings and technical specification Clauses 802, 804, 805, 806, 807, 1202 ans 1204 (Grade RCC M-25)	74.46	Cum	7351.1	547363.00
Supplying, fitting, and placing HYSD bar reinforcement in superstructure complete as per drawing and technical specifications Clauses 100: 1010 and 1202	2, 6.99	MT	69211.42	483788.00
Backfilling behind abutment, wing wall and return wall complete as per drawings & technical specification Clause 1204.3.8 (With Sandy Mate	2	Cum	732.87	164463.00
Providing and laying filter media with granular crushed aggregates as per specification to a thickness of not less than 600 mm with smaller towards the soil and bigger size towards the wal and providing over the entire surface behind abutment, wing wall, return wall to the full heig compacted to firm condition complete as per	ll ght,			
drawing and technical specification Clause 120	04.3.8 123.6	7 Cum	3379.66	417963.00

JAI MATA DI STONE AND CHIPS Legga Single PROPRIETOR



EXECUTIVE ENGINEER
RWD WORKS DIVISION BAISI

cription of work	No. or Qty.	Unit	Estimated Rate	AMOUNT
			Figure	R ₈ ,
providing and laying reinforced cement concrete in superstructure as per drawing and technical specifications Clauses 800, 1205.4 and 1205.5 (RCC M-20 Grade)	0.00	Cum	6664.78,	0.00
Providing and laying reinforced cement concrete in superstructure as per drawing and technical specifications Clauses 800, 1205.4 and 1205.5 (RCC M-30 Grade)	30.77	Cum	7977.13	245456.00
Supplying, fitting, and placing HYSD bar reinforcement in superstructure complete as per drawing and technical specifications Clauses 1002, 1010 and 1202	2.62	MT	70353.41	184537.00
Parapet Construction Plain/reinforced cement concrete in substructure complete as per drawings and technical specification Clauses 802, 804, 805, 806, 807, 1202 ans 1204 (M-20)	21.71	Cum	6664.78	144692.00
Painting on Parapet wall painting two coasts including primer coat after filling the surface with synthetic enamel paint in all shades on new, plastered/ concrete surface as per drawing and Technical specificaiton Clause 1701.	148.61	Sqm	96.16	14290.00
Drainage spouts complete as per drawing and technical specifications Clause 1209	16.00	Nos	428.22	6852.00
Providing and laying cement concrete wearing course M 30 grade including reinforcement complete as per drawing and technical specifications Clauses 800 and 1206.3	5.63	Cum	15009.26	84502.00
Dismantling of existing structures like culverts, bridges, retaining walls and other structure comprising of masonry, cement concrete, wood work, steel work, including T&P and scaffolding wherever necessary, sorting the dismantled material, disposal of unserviceable material and stacking the serviceable material with all lifts and lead of 1000 m as per Technical Specification	0.46	Cum	469.97	216.00
Dismantling of existing structures like culverts, bridges, retaining walls and other structure comprising of masonry, cement concrete, wood work, steel work, including T&P and scaffolding wherever necessary, sorting the dismantled material, disposal of unserviceable material and stacking the serviceable material with all lifts and lead of 1000 m as per Technical Specification				
Clause 202. Reinforceemnt Cement Concrete	5,04	Cum	1056,05	5322,00

JAI MATA DI STONE AND CHIPS Bogh Sorgh PROPRIETOR EXECUTIVE ENGINEER
RWW WORKS DIVISION BAISI

	iption of work	No. or Qty.	Unit	Estimated Rate	AMOUNT Rs. p
				Figure	
ori cor wo wh ma stag	imantling of existing structures like culverts, imantling of existing structures like culverts, retaining walls and other structure does, retaining walls and other structure does, retaining of masonry, cement concrete, wood imprising of masonry, cement concrete, wood marks steel work, including T&P and scaffolding ork, steel work, including T&P and scaffolding derever necessary, sorting the dismantled derever necessary, sorting the dismantled derever necessary of unserviceable material and derever the serviceable material with all lifts and confidence of 1000 m as per Technical Specification duse 202. Cement Mortar	49.50	Cum	226.14	11194.00
300	mm Irriagation Pipe viding and laying of a reinforced cement				
cond (new cuts fills a m side 0.3 piec dia dou pro	crete pipe duct, 300 mm dia, across the road v construction), extending from drain to drain in and toe of slope to toe of slope in constructing head walls at both ends, providing inimum fill ofgranular material over top and so of RCC pipe as per IRC:981997, bedded on a m thick layer of granular material free of rock ces, outer to outer distance of pipe at least half of pipe subject to minimum 450 mm in case of able and triple row ducts, joints to be made leak pof, invert level of duct to be above higher than a pound level to prevent entry of water and dirt, all	140.00	Rm	887.53	124254.00
VEN: 1	per IRC: 98 - 1997 and approved drawings.		Rs		43933875.000
To	otal Cost of Construction =		Section 1	********	34357068.340
Le	ess Privious Bill	<u></u>			9576806.660
R	est Payment	(C) (3)	Rs	ny Santana ara-	1723825.000
A	dd GST @ 18%	VICTORIA.	Rs		95768.000
-	dd Labour Cess @ 1%		Rs	(Section)	_11396399.660
Т	Ootal Construction Cost (A) YEAR ORDINARY MAINTENANCE COST		173	Service of the servic	113 00631 166
5	YEAR ORDINART MAINTENANCE COLUMN	(A.B.) ()	3.	San State Control of the Control of	044000 000
59 I	st Year	1.000	Year	244092.000	244092,000
60 I	Ind Year	1.000	Year	314401.000	314401.000
61	III rd Year	1.000	Year	1569925.000	1569925,000
01	IV th Year	1.000	Year	618218.000	618218.000
	IV III I Cai		Service of the service	1005004.000	1235284,000
62	Vth Year	1.000	Year	1235284.000	12332011000
62		1,000	Year	1235284.000	3981920,000

JAI MATA DI STONE AND CHIPS Joseph Sorgh PROPRIETOR



EXECUTIVE ENGINEER INVOLVED BAISI

cription of work AMOUNT No. or Unit Estimated Rs. Qty. Rate Figure Add Labour Cess @ 1% -39819:000 Rs 4-6 9 8 666.00 47-38485.000 Total (B) Rs Grand Total Project Value = _54958372:000 nored Rate in Words 54-47-9214:00 Aspergareement below \$204 5387576

Qui 2129

B.O. Q. revised due to G.S.T. enhancement

Ruper Five Cook forty four later severy wine

(Ruper Five Cook forty four later severy wine

thousand two hundred of fourtiers) only.

thousand two hundred of fourtiers on (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P. S. 4779214.00 (Ruper)

Revised B.O. approved for amount P.

अधीक्षण अक्षियत। ग्रामीण कार्य विभाग कार्य अंचल,पूर्णियाँ स्रियाः

23/02/24

JAI MATA DI STONE AND CHIPS Joge Smell PROPRIETOR

10 de 0

Mulatori

EXECUTIVE ENGINEER

RIVER WORKS DIVISION BAISI